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Abstract

This document proposes resolutions to TGaj D0.5 CID 92.
Technical Comments
	CID
	Subclause
	Page
	Line
	Type
	Comment
	Suggested Remedy
	Remark

	92
	9.34a.2.1
	40
	1
	E
	Repeat a), b) and c), there is no definition of SBBI in b), some grammatical changes are required
	Change to a) If PCP or AP 1 detects an empty Beacon SP on 1.08 GHz channel, PCP or AP 1 shall change the current beacon interval length BI 1 or BI 2 on 2.16 GHz channel ... Some "should" need to be changed to "Shall". Please review the paragraph carefully.
	


Proposed resolution: Accept
Discussion:

There is already a definition for SBBI on line 18, page 43 of 11aj D0.5:
…(aMinChannelTime + SBBI), where SBBI is its beacon interval on the 1.08GHz channel.
Do as the suggested remedy:
“Insert the following definitions into 3.2 in alphabetic order:
CDMG small band beacon interval (CDMG SBBI): a value that represents the number of time units (TUs) between target beacon transmission times (TBTTs) on a 1.08GHz channel for a CDMG STA that is operating on the 1.08GHz channel.”
“Change step a) and step b) as follows:
a) If PCP or AP 1 detected an empty Beacon SP on 1.08 GHz channel, PCP or AP 1 shall change the current beacon interval length BI 1 to BI 2 on 2.16GHz channel, to align the beginning of the first BTI on 1.08GHz channel after BI 2 duration with the beginning of the empty Beacon SP.
b) If the ratio of BI2 divided by SBBI of the S-PCP or S-AP is an integer, PCP or AP 1 shall adjust SBBI 1 to equal to SBBI of the S-PCP or S-AP; otherwise, PCP or AP 1 shall change its beacon interval length BI 2 to BI 3 on 2.16GHz channel during its next NP 1 and set its SBBI 1 to the SBBI of S-PCP or S-AP during BTI, to make the ratio of BI 3 divided by SBBI of the S-PCP or S-AP is an integer. PCP or AP 2 should also adjust its SBBI 2, to make the ratio of BI 3 divided by SBBI 2 is an integer.”
Replace the “SBBI” with “CDMG SBBI” throughout 11aj D0.5.
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